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3 20224 8ATH~202268A9E EERBAENABKELE

BFEARE

1&fiz| Bib EF i E4 ERERTIE wh | IE| HAE|IE| ~vek | E | BE | IE| FiE | IE| 8% | IE| BE (BaE
1|91|8HE A 3 | fEFEBRE HA 14.766| 1 [13.300| 8 |14.033| 4 [14.333| 7 |14.366| 2 |14.166| 1 |84.964

2 |121|78K  HHE 3 | I FE 14.100| 6 [13.733| 3 |14.200| 3 [14.533| 4 {13.900| 6 |13.866| 3 |84.332| 0.632
3 2717 K 3 |ER ABR 13.766|11 |13.766| 2 |14.233| 2 [13.366|47 [14.233| 3 |12.600|33 |81.964| 2.368
4 123\ L EiE 3 | IS FE 14.400| 2 |12.500(19 |12.966|17 [14.233| 9 {14.233| 3 |13.533| 5 |81.865  0.099
5 |126| ¥ K 2 | IS FE 13.400|22 |13.566| 5 |12.833(22 (14.400| 5 {13.600| 9 |13.100|16 [80.899| 0.966
6 [261|FEA EX 3 |i&@ R 14.266| 4 [11.933|35 |14.000| 5 [13.733|26 (14.166| 5 |12.600|33 [80.698| 0.201
7|41|56E ES 3 |fll&KEARK =5 12.933(43 [13.366| 6 |13.233|12 [14.200|10 [13.066(22 |13.400| 7 {80.198| 0.500
8 | 62|#B =M 3 | BRIERBE Lt 13.466|19 [13.100(11 |12.633|27 [15.066| 1 [12.866(27 |12.966|19 [80.097 0.101
9 [191/%FM EEHF 2 |E5T B 13.200|30 |12.766 |17 |13.033|14 [14.000|17 [13.366|12 |13.200|12 |79.565  0.532
10 | 94)IIA #ER 3 |fEEFBR WA 13.600|16 |12.900|16 |12.666|24 [13.633|32 (13.733| 7 |12.800|24 [79.332| 0.233
1 122|$6K RE 3 | THIfE FE 13.800|10 |12.366 |25 |12.566|29 [14.033|14 [13.300|16 |13.133|15 [79.198| 0.134
12 |137|FiEH &8 3 |BEXER BR 13.700|13 |12.233|26 |12.666|24 [13.966|18 {13.200/19 |13.366| 9 |79.131| 0.067
13 |263|# F Ho 3 |i&E R 12.866|46 |12.400(22 |13.333|10 [14.100|13 [12.966|25 |13.233|11 |78.898| 0.233
14 |277| 1% thil 3 |ER KBR 13.366|23 [13.000|12 |12.433(33 [13.100|55 {13.333|15 |13.400| 7 |78.632| 0.266
15 | 92|/8F R 3 | fEFEBR HA 14.000| 7 |10.766|66 |13.000(15 [14.700| 3 {13.366/12 |12.733|26 |78.565| 0.067
16 | 42|#L EBA 2 |fileXEARK =i 14.200| 5 [10.400(72 |13.866| 6 [14.333| 7 {12.933|26 |12.666|30 |78.398| 0.167
17 272|)lIF  —%% 3 |ER KBR 12.766|48 |13.366| 6 |12.666|24 [13.43340 {11.800(62 |13.900| 2 |77.931| 0.467
18 | 93|21k BT 3 | {EFEbE HA 12.733/49 [11.933(35 |12.900(20 [13.400|42 {13.366 /12 |13.166|13 |77.498| 0.433
19 |332|fhFt BEKEE | 2 |EAAE 53[0 13.833| 9 |11.400|53 |12.433(33 [13.733|26 {13.300|16 |12.766|25 |77.465| 0.033
20 (333|fR & 2 & Rl 13.133|34 |12.466|20 |12.266(40 [13.500|37 {12.733/31 |13.366| 9 |77.464| 0.001
21 [ 43|86k —K 2 |fll&REARK =41 14.333| 3 |11.966(32 |11.533|66 [13.666 30 [13.633| 8 |12.200|51 |77.331| 0.133
22 |111|18E @5 3 |BER BE 12.366|69 |11.933|35 13.266|11 |13.500|37 (13.066 22 |13.166|13 [77.297| 0.034
23 | 64/%H 3 |BRINERRE iz 13.633|15 [12.000(30 |12.900|20 [13.366 47 [12.566(35 |12.266|49 |76.731| 0.566
24 381/ LO X 3 |#H 28 13.166|33 |11.700(43 |11.533|66 |13.733|26 [13.466|10 |13.000|17 [76.598| 0.133
25 |44 BRE B2 | 3 |lAXEAR =4 13.600|16 |11.200|58 |12.766|23 [14.366| 6 (12.766/29 |11.533|72 |76.231| 0.367
26 [192|h 5 KiE 3 I B 12.933|43 |11.966|32 |12.366(37 [13.800|21 {12.700 32 |12.333|44 |76.098| 0.133
27 |278|dLlE 4= 3 | KEEBRKZF ABR 13.433|20 |11.666 |46 |12.133|47 [13.600|33 |12.566|35 |12.666|30 |76.064| 0.034
28 262\ ZiE AKX 3 i@ R 13.266|25 [11.100|59 |13.000(15 [12.600|70 {13.433|11 |12.600(33 |75.999| 0.065
29 | 67 5%EH &% 3 | liFEhIIEE Lz 12.000|75 |11.066|61 |13.066|13 [14.133|11 {12.866 |27 |12.700(29 |75.831| 0.168
29 (273 |kl M 2 |ER KPR 13.233|28 |11.966(32 |12.600| 28 [13.000|59 |12.066|55 |12.966|19 |75.831| 0.000
31 (13354 f@KEE | 2 H@FKER BR 13.266|25 |11.533|48 |12.966|17 [13.866|19 [12.233|52 |11.700|66 |75.564| 0.267
32 [128|3k%F 2By | 3 |HUIBEFH FE 12.800|47 |10.833|64 |12.933(19 (12.200|76 {14.400| 1 |12.333|44 |75.499| 0.065
33 [331|FhiA BES} 3 B9 53[0 12.900|45 [12.400(22 |12.033|49 [13.733|26 |12.466|44 |11.966|56 |75.498| 0.001
34 112/ Bl KA 3 |B/ER B/E 13.133|34 {10.900|63 |12.100(48 [13.133|54 {13.30016 |12.833|23 |75.399| 0.099
35 264/ K EF 2 |i&fE R 12.533|61 [13.200(10 |11.166|75 [12.333|75 [12.600(34 |13.500| 6 |75.332| 0.067
36 (231 KB A 2 |BEXFHE =5 13.366|23 |10.733|67 |11.800|57 [13.400 42 {13.033|24 |12.933|21 |75.265| 0.067
36 282 BT K3 3 |hifEls KE 13.766|11 [11.933(35 |11.866|55 [13.800 21 [11.600(65 |12.300|47 |75.265  0.000
38 |13\ Al AER | 2 BER B5E 12.666|55 |12.966|15 |11.700|63 |13.266|50 [12.133|53 |12.466|37 [75.197 | 0.068
39 281 #AF  fK 3 |hifEls KE 13.100|37 |11.733|42 |12.333|39 [12.766 |64 |12.766(29 |12.466|37 |75.164| 0.033
40 |243|FHF Wi 2 |BE = 12.466|65 |12.033|29 |12.466|30 [13.033|57 [12.566 |35 |12.400|40 |74.964| 0.200
41 (s |BEET REH 2 |BifTE &8 13.233|28 [11.500(50 |12.000|52 [13.800|21 {12.300(49 |12.100|53 |74.933| 0.031
42 |97 b ZERK 1 |fEfZiR AR 12.733|49 {11.100(59 |{12.400|36 |14.033|14 (12.100 54 |12.433|39 [74.799| 0.134
43 |17 |FHE K— 3 |BiZSLHE BE 11.533|81 [13.000|12 |13.500| 8 [10.766|83 [13.200/19 |12.733|26 |74.732| 0.067
44 |81 (PSR 184 3 BEIx R 12.566|58 {13.933| 1 [11.933|54 |13.233|51 (11.300|74 |11.733|64 [74.698| 0.034
45 |98 |/i5 Rt 1 |{EfrERe AR 12.466|65 |11.800|39 |12.433|33 |13.400|42 |12.300|49 [12.233|50 |74.632| 0.066
46 421 | BR B 2 |EFEFR R 12.733|49 |11.700(43 |12.233|44 {12.700|67 [12.533|40 |12.633|32 (74.532| 0.100
47 (367 | KTF £ 3 | RIS A 11.566|80 |12.700|18 |12.366|37 |13.400|42 |12.566|35 [11.800(61 |74.398| 0.134
48 |97 |BFE AR 3 &I =mH 11.666|78 {12.100(27 |11.200|74 {13.800|21 (12.533 |40 |12.866|22 (74.165 0.233
49 132 |RR RE 2 |B@#KER BR 13.266|25 |11.400|53 |12.033/49 |13.400|42 |11.800|62 [12.200(51 |74.099| 0.066
50 |232 \Hiky EBEX 3 | BEKEHE 25 12.466|65 |11.533|48 |11.733|61 |13.766|25 [12.30049 |12.100|53 [73.898| 0.201
51 284 | EHFF BHE 2 |hifels KE 13.433|20 {10.100|76 |11.800(57 [13.566|36 |12.666 /33 |12.300|47 |73.865| 0.033
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1&fiz| Bib EF i E4 ERERTIE wh | IE| HAE|IE| ~vek | E | BE | IE| FiE | IE| 8% | IE| BE (BaE
52 |283 |HIE fBK 3 |HhiRE RE 12.233|71 |11.800(39 |12.466|30 |12.700|67 [12.566 35 |11.966|56 [73.731| 0.134
53 |267 (LA &R 2 |i&E =B 13.133|34 [13.700| 4 |11.166|75 |12.700|67 |11.433|72 [11.533|72 |73.665| 0.066
54 |193 |$8K FHif# 3 |8 = 12.666|55 |12.400(22 [12.033/49 [12.566|71 |12.033|56 |11.933|59 |73.631| 0.034
55 (233 |[BEK K 2 | BWKEHE 240 12.566|58 |11.600(47 |11.733|61 |12.766|64 [12.533|40 |12.400|40 [73.598 0.033
56 104 | B B 1 |#%T =5 12.733|49 |11.266 |57 |11.766|59 [14.033|14 {11.966(58 |11.733|64 |73.497| 0.101
57 (61 |)I|F K& 3 | hICHKEE E'RE  |13.100|37 | 9.966|77 |11.033|80 |14.766| 2 |11.933|59 |12.500 36 |73.298| 0.199
57 |63 |#1E BEX 3 |BNERRE Lz 12.100|73 |11.766|41 |12.266|40 [13.500|37 {12.033|56 |11.633|69 |73.298| 0.000
59 |268 [ MEKER | 3 &M =B 11.833|77 [13.266| 9 |11.100|77 |13.433|40 |11.000|80 [12.366(42 |72.998| 0.300
60 [101 3K E&E 3 |5H BE 13.700|13 |10.600|69 |12.266|40 [14.133|11 [11.133(78 |10.966|78 |72.798| 0.200
61 |274 |fBHF  KiE 1 [ER PN 13.200|30 | 8.933|84 |11.033/80 |13.333|49 |12.366|48 [13.766| 4 |72.631| 0.167
62 |16 |RFH EH 3 | BER BE 12.666|55 |10.800|65 |12.233|44 [11.833|79 {13.100(21 |11.766|62 |72.398| 0.233
63 [462 |F5i5 B3E 3 | Ik BERE  |12.566|58 |12.466|20 [11.300|71 |12.533|73 [11.533|69 |11.666 /68 |72.064| 0.334
64 |17 HE FE 2 |BMEENSIBIE BE 12.533|61 |11.300|56 |12.466|30 [12.533|73 (11.366|73 |11.766|62 |71.964| 0.100
65 (412 | B FIE 2 |BiEI% &8 12.400|68 |10.466|71 |11.600 65 |13.233|51 |12.400|46 [11.633(69 |71.732| 0.232
66 |33 |#EH FEA 2 M@ 5[l 13.100|37 [10.333|73 |12.200|46 [13.200|53 [11.533|69 |11.333|75 |71.699| 0.033
67 |38 |BRE R 1 |#H bal 12.266|70 |11.066|61 |11.666|64 [13.600|33 [11.633|64 |11.466|74 |71.697| 0.002
68 (147 /NAY) R | 3 |EERR I 11.466|82 |11.433|52 |11.066|78 [13.833|20 {11.833|61 |11.966|56 |71.597| 0.100
69 |131 |ff Lk F3} 3 |BGKRER BR 11.600(79 | 9.900(78 [13.666| 7 [13.033|57 |10.566|83 |12.733(26 |71.498| 0.099
70 222 |JBIL EX 3 |BE =8 12.733/49 [10.200(75 |12.000|52 [13.100|55 [10.766(82 |12.366|42 |71.165  0.333
71 |204 |BIH EIE 2 |BE ==E 11.933|76 |10.333|73 |12.266|40 {12.900|61 [12.433 |45 |11.233|76 [71.098| 0.067
72 |32 |#K BX 3 |#H bal 12.733|49 |11.400(53 |11.766|59 [11.500 81 [11.566(68 |11.700|66 |70.665  0.433
73 |217 | FH B 3 |EE 53--1 13.200(30 |10.500(70 |11.066 78 [12.133|77 |11.600|65 |12.100(53 |70.599| 0.066
74 |13¢ | £8P BE) 2 |Bi#AER "R 13.500|18 | 8.766(85 |10.966|82 [12.566 71 [11.066(79 |13.000|17 [69.864| 0.735
75 |14 X B 2 |MIEINKHE I 13.000(40 [12.100|27 |11.233|73 |13.600|33 |11.000|80 | 8.833(83 |69.766| 0.098
76 |463 ||LEH FZEE | 1 |TIZHKEE ERE  [13.000/40 |11.700|43 [11.366|70 |12.800(63 [11.300|74 | 8.900 82 |69.066| 0.700
77 |43 |l At 3 BRI =B 12.500|63 | 9.400(81 |11.266|72 |12.766|64 [11.233|76 |11.566|71 [68.731| 0.335
78 |464 LI BE 1 |k ERE 1296642 | 9.733|79 |11.533|66 |11.466(82 [11.600|65 |11.233|76 |68.531| 0.200
79 a4 |5EH M 2 |BiEIE &8 12.500|63 | 9.333|82 |11.866|55 [12.866|62 [11.533/69 | 9.900(81 [67.998| 0.533
80 (385 |UAt 18 2 |&H bl 12.033|74 [10.700|68 |11.466|69 [11.700|80 [11.233|76 |10.500|79 |67.632| 0.366
81 241 [IEA JRAER | 3 |BE = 10.466|84 | 9.233(83 |10.166|84 {13.000|59 (11.933|59 |11.833|60 (66.631 1.001
82 |61 |FJIl R 3 |BRIAERRE L 10.533|83 | 9.466|80 |10.366(83 [11.933|78 {10.133|84 |10.433|80 |62.864| 3.767
83 |138 [1RHE KA 3 |BEKRE BR 12.233|71 |12.000(30 {14.333| 1 | 0.000|84 [12.400 46 | 0.000|84 [50.966 11.898
84 |234 (1B HKERK 3 | BEAEHE | 0.000|85 |11.466|51 | 0.000|85 | 0.000/84 | 0.000(85 | 0.000|84 |11.466| 0.867
48 |iFH 1R 3 B XEAK =i 13.933| 8 | 0.000(86 | 0.000|85 | 0.00084 | 0.000(85 | 0.000|84 |13.933/37.033
a0l |{ERR OB 3 | AMEBRXZEAE L=l 0.000(85 | 0.000|86 | 0.000(85 |13.666|30 | 0.000(85 | 0.000|84 |13.666| 0.267
387 [lLA 3 |#H iR 0.000/85 | 0.000|86 [13.466| 9 | 0.000|84 | 0.000(85 | 0.000|84 |13.466| 0.200
41 |FE EA 2 (&K I 0.000|85 |13.000(12 | 0.000|85 | 0.000/84 | 0.000(85 | 0.000|84 |13.000| 0.466
08 |[—/ ¥ & 3 HERISRRIE BE 0.000(85 | 0.000|86 | 0.000(85 | 0.000|84 [12.500(43 | 0.000(84 |12.500| 0.500
187 | KEFAK #h 3 |MaRBE all 0.000|85 | 0.000(86 | 0.000|85 | 0.000/84 | 0.000(85 |12.333|44 |12.333| 0.167
e a8 =+
gng (IR 3/
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